Multiply Two Surds with Coefficients
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Multiply Two Surds with Coefficients

1. Work out the following.

a) 3 x V7
b) 3V5 x 4
c) 5V10 x+/3

d) 10v3 x 35

) (3v7)°

2. Match up the equivalent

calculations.
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.
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42 x 5V2
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Multiply Two Surds with Coefficients

3. Fully simplify. 4. Simplify the expressions.
2) V20 x V50 ) 4 x 543

b) V1000 x 4v2 b) 10VD x 4+/C

c) 5V10 x V32 c) dV10 x dv/e

d) ¥300 x 3v5 d) 12vF x 10vF

) (m)z e) gv9796 x hv/9796
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Answers
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Multiply Two Surds with Coefficients

1. Work out the following.
a) 3 x2V7 = 67

b) 3v/5 x4 =125
c) 5V10 x+v3 = 5v/30

d) 10v/3 x3+/5 = 30415

e) (3\/7)2=9\/4_9:9><7:63

2. Match up the equivalent

calculations.
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V20 xv50
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V200 xV8

V32 x50

V500 xv40
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42 x24/5
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2v/5 x5V2
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Multiply Two Surds with Coefficients

3. Fully simplify.
a) V200 x V50 = 10v2 x 5v2 =100

b) V1000 x 4v2 =10V10 x 4+/2=
40420 = 40 x 24/5 = 805

c) 5v10 xv/32=5+10 x 4+/2= 20v/20 = 20
x 2v/5 = 405

d) V300 x 3v/5=10/3 x 3v/5= 3015

e) (vsoo)zz 500

4, Simplify the expressions.
a) 45 x 5ya=20v5a

b) 10Vb x 4+/C = 40vbc

c) dV10 x dve = d2+/10e

d) 12vF x 10+f = 120f

e) gv9796 x hv/9796 = 9796gh
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